Name: K M

Quiz 2 MAC 2313
J

1. Let p'= (2,k,0) and ¢= (—2,1,1).
(a) [3 points] Find k such that p- = —4
p-q " %
<2-)\<,0>-<-'L,1, 1)
~4 ¥ l(_ = -4
L= O

e

(b) [3 points| Find 7' x ¢ (you may plug in your answer from (a) for ¢).
-5 -3 i' .‘) k
PX4, = |2 2 21: {(o)-)(z-0) + k(2-0)
-2 4 4

=<L0,-2,2)

THERE IS A QUESTION ON THE BACK.
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2. [4 points] Find the point of intersection between x + y + z = 0 and the
line:
r—1 y—-2 2z2-3

2 —1 —2
P4 ct, Yyt 42 23
N +erms 2 -1 -4 -7
ot '()
1-x = 29’4 Lf"le = 3-%
6—-2.:4"X Zlﬂ*1 =z
plug into 6«,,1% rytay-t =0
plane® ﬂ"'q";o
y=-%
Use Y +o G-2(-4) > X 2(-4)-{ = 2
find SEX 5% = X ~§-1=2
(3 = x 4=

50 Hr POt of whersecfion 15 (13,74, A) .

hole Hat HAS 1S YUt ene W 1o $olve HUS problema.



